Motif with rings off chains
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Requirements:
Size 20 thread, 2 shuttles and the usual tatting equipment.

Special abbreviations:

CTM = continuous thread method <> <-—
SH. = shuttle, R. = ring, p = picot. cl = close ring,
RW = reverse work, DNRW = do not reverse work,
SS = swap shuttles, CH. = Chain, + = join,

RoCH = ring off chain

Wind two shuttles CTM with about 42 metres on shuttle 1 and
2 metres on shuttle 2 and %2 metre in between (7 metres altogether)

SH,1 R.A 8, p,6,p,2,cl
R.B 2,+toring A, 6,p,2,p,2,p, 6,p, 2, cl
R.C 2,+toring B, 6, p, 8, cl, RW
CH. 6, SS, DNRW !
SH.2 RoCHD 4,p,4,p,4,cl, SSDNRW \}\ 16/
SH.1 CH, 6, , tension the chain to curve as in the sample above, RW 6 2%/22 6
*R.E 8, + to the last ring of the previous three ring group,, 6, p, 2, cl ‘g‘ ) SC
R,F 2, + to previous ring, 6, p, 2, p, 2, p, 6, p, 2, cl 6
R.G 2, + to previous ring, 6, p, 8, cl, RW ©20101. W.
CH.  6,SS.DNRW _(43‘4\6/
SH2 RoCHH 4+ to previous RoCH, 4, p, 4, cl, SS, DNRW 4~
SH.1 CH. 6, tension to curve as in the sample above, RW, **

Repeat from * to ** three more times then continue

SH.1 R.U 8, +tpring S, 6, p, 2, cl

RV 2,+toringU, 6,2,p,2,p,2,p,6,p,2,cl

R.W 2,+toring V, 6, + toring A, 8, cl, RW

CH. 6, SS, DNRW
SH.2 RoCHX 4, +toRoCH.T, 4, +toRoCH. D, 4, cl, SS, DNRW
SH.1 CH. 6, tension as before

Cut and tie to the base of rings A, B and C then secure the ends.
Block and stiffen if required



